HH6F481BIR7E

ﬁ.

i i

S F6£

RN
| 6 A

EIAEG 4 A FIBRER = FIER EREE s A FIEER ° A
1|8 1|x| |o 1]+ 11a| |o e 1la
2 | w 2 |x| |o 2 || 2 lwl4lo 2 |2 MERE (6EE%) AT
3 | % 3|2 BAEAE 3|A 3|kl |o 3|+ 3| |45|0|erm
[ %
B e AEYDE 4|xls SEIEALe 4|\ B 7 E A (64F) 4|kl |o
6
5|2 5|\ cE40R 5 x| 4 52| |o|etemsnnsen 5|8 B 7 A (64) 5 |x| |o
6|+ 6|8 B E 6 | % 6|+ 6 | n B 7 E A (64F) 6|l2| |o
& THEEIR%ES
G L=
7|\ EEhEAR 7lx| |o 7|2 7B 7 |x 7|+ % Sa ke mmane
thE ¥ i
sla| |x|4E2 s |x| |o 8| x || x [tomxe slal |o 8 | % 8 |\
o|uwl4]x o|x| |o o |m o |xl|4|o|mrmzD 9|2 BERFED olal |o
0|x| |o i 0|e| |o|REE (1R 10| A KikiERa 10|x|¥|o 10|+ 0|x| |o
o & EHELERAS GF) EHERES (54) 4
1| % 'fé O | s bAlE 8 1| % 3 BAKREE (54) 1|x|4|olermze 1| e WO E 1|x|4lo
12|a| |o[tEHMO 12|\ 12| B3 ERKREE GF) 12|24 |o|EAER® 12| B REKA 12|x| |o
= K - %73 (564) G ez :
13+ 138 |o 13| % 3 BAKBREE (54) 13] + 13| S E 132 fg O |usmare ua)
14| @ 14|40 14| 2 14| B 14|k S E 14+
5|8 |o i5|x| |o 15+ 15| & B0 B 15| & PR E 15| @
16 %[0 i6|x| |o 16| 16| x| 4|0 |ErEH® 16| 2 R B 16| 8 WE0R
17|k | 4 |0 1712 |o 17| 8| 4 171x| o 17| + 17| |o
H - 2 Hh3EE 64) N N e
18|k| (o2 LpEECE. 18] + 18| 18| x| |o|enrmsnnse s 18] B 18|k| |O|usanmnas s
9le|®lo 9@ 19| 19|24 |o|BES 19| B EFE® 19| x| |o|esanmmgsaus
| 56 = Kk IEER " RITHIRIREE
{23 o W €N )| "
20| | ¥ | x |SEEES w0la|l lo 20| % 20|+ 20| % 0|e| |o
21| 1lx| |o 21| e 21| | EEGKEAM 21| % 21|+
2|al |o 2|x| |o 2|+ 2| A FEAKIEED 22| % 2|8 HHAOR
23|l 4|0 2|x| |o 23|\ 23| w FEKAIEED 23| 2| A EBkE
ulx| |o 24| 2 |45|0 24| A 24| %k BEAKIEEOD ul+ 24| x| 5|0
25| % *f o |FEE= 5|+ 5| x [Eme 25| | 4 25| & EEAKIEEO 25| | s|x| |o
26| 2 |45 | O =t 26| | EH: FHE 26| 2|2 FEKAIEES 2| B 26 | & fg O |sumrzas
27| + 27| A EBLEEKER 27| % 27| + 27| % 27l2| |o
28|\ 28 ul|s|olmrE 2% 28| e 2|\ 28| 28|+
29| A R0 B 29|x| |o 29|+ 29| A FEKAIEEG 29| % 2| g
o|lx| |o o|x| |o 0|\ 30| % FEKAIEED 0|2 oAl |o
1|2 || o 31| TEAKIEEO 31|+ TEhEAR

56




SH6EE ER/NER ERTEFE @

B |BE|[5R % 10 A A |E & 11 =LA EES 12 A =R E RS 1 A B|E|& | 2 A B | B[54 3
% = 12| |o 1|8 Es 12 QIEE hE:
2 [x| |o B 21028 2 | B FERE 2 | % 2 || 2 ||
3|x| |o 3 || ko8 3|x|Z|o 3|2 sla| |o sla| |o
sl2| |o 4|8 REHE s|x|%lo e s|x| |o 4lx|fo
5|+ 5 (x| |o 5 4|5 |oeanna 5 | B 5 (%% o 5 (x| |o
6|8 6|x| |o 62| |o 6|8 MFE® 6 (x| |O 6|x| |oO
71| |o 7|%x| |o 7|+ 7| % sgKAR 7|2|%|o 12|80
s{x| |o sl2| |o 8 | B 8 || 4] x 8|+ 8|+
o [k |45]| 0 puvsmsnyy eEnam |9 |+ olm] |o 0 [% |70 wms 9 || AE
10| x| % |o|mrrrns 3wa M 10| % || o|mrms @em o 0|«| |o 0|g| |o 0|g| |o
1|&| |o|eses 1n|a| |o 1|x| |olerms @zm o 1|+ 1| % RERZ0OR 1% |&o

o 12|k 7§ O |EAmEH (FZH) O 12|\ 12|x| |o 12|x| |0

o 13|&|%|o|@rmn w2w @ 13| B HADH 13|%| |o 13|x| |o

o 14| + 1|lx| |o 14|& |5 |OFTLRREHEIARZE 1 yle| |oO
15| k| |O|mE= i5|2| |o 15| B 15|x| |o 15|+ 15|+
16|70 16|+ 6|8| |o 16| x| |o 16| B 16| @
17| %450 17| @ 17|x| |o 1|&| |o|FEn0EY 17lA| |o 17|8| |o
i8le| |o 18|a| |o 18|x| |o 18]+ %] x |tmmxe 18|x| |o 18|x| |o
19]+ 19|x| |o 19|x| |o 19| B 19|x| |o 19|k |46 | O s
20| B 20|k| |o 0le| |o ola| |o o|x| |o 20 | & E50H
21|B| |o 21| k| |o 21| 2|5 | x | SERXS s 21| k| |o 21|&| |o 21| 4| x
2|x| |o »|e| |o 2|8 2|kx| |o 2|+ 2|+
23|k| |o 23|+ BB O 2s|a| |o s|x| |o 23| B X2 23| B
24| k| |O 24| B 24|k |0 u|&| |O|EsnrESR 24| B R A 48| | *[Firgs
5|2l |o sl |o 25|k |4 |0|erse 25|+ 5(x| |o|mirrss 25 | ;"; x ez

4

26|+ |%F] x [EEEEA 26|x| |0 26 | & el e 26| B 26|k| |0 26 | 7k FEHRAN
27| B 271|x| |o 27| % SREA B 2a718| |o 27| || o |muasn 27| %
28|20 28|%|5 |0 28| + 28| | 46| O |1 REAT®HS 82| |o 28| 2
29|x| |o 29|2|5|olgxs a8 2| B 29[| 4]0 0o 29|+
0|k |E|o 20|x|5|o|gxe 288 30| A |x| |o 0|8
31| & | % | O [merssen 31| 31|20 31| A




